Section A: Multiple Choice Questions [10 marks]
Answer all the questions in the boxes provided.

1 An earthquake struck in 2017 resulting in severe damage to the nuclear plants in
Bendewich that gave out radiation to the atmosphere.

Which hazard symbol should be placed at the nuclear plant area?
A B C D

2 Which apparatus will be most suitable to measure an accurate volume of 25.0 cm?
of dilute hydrochloric acid?

A B C D
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A petri dish containing a blackish-yellow substance was given in an experiment.
When a magnet was placed over the cover of the dish, the black particles were
observed to move towards the magnet while the yellow powder remained at the
base of the dish.

What can be concluded based on these observations?

The black particles and yellow powder are not chemically combined.
The black particles and yellow powder are present in a fixed ratio.
The black particles and yellow powder are two different compounds.
The black particles and yellow powder have fixed boiling points.

OO w >

Chlorine is an element in the Periodic Table.
Which statement about chlorine is not true?

Chlorine is a non-metal.

Chlorine is in a different period from fluorine.
Chlorine is in the same group as calcium.
Chlorine has similar chemical properties to iodine.

OO w >

The table below shows some differences between milo drink and sugar solution.

Which description correctly shows the difference between them?

milo drink sugar solution
A homogenous not homogenous
B does not allow light to pass through allows light to pass through
C clear cloudy
D no particles settle at the bottom many particles seen at the bottom
[Turn over
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The composition of air is shown in the following table.

component percentage by volume (%)
nitrogen gas 78.0
oxygen gas 20.9
argon 0.9

water vapour depends on local conditions
other gases 0.2

Which statement best explains why air is a mixture?

The components of air are not fixed.

Air contains different types of elements.

The components of air cannot be separated.
The components of air react with each other.

OO w >

The diagram below shows the decomposition of water using an electric current.
Only oxygen and hydrogen are produced. They are trapped in two separate test
tubes as shown below. The unit volume of hydrogen collected is twice that of
oxygen.

oxygen ____ hydrogen

Which statements below can be concluded based on the experiment described?
I Oxygen and hydrogen are the constituent elements of water.
Il Oxygen and hydrogen are combined in a fixed proportion by mass.
[l Compounds can be broken down by physical means.

IV Wateris a compound.

A | and Il only B [l and Il only
C [, Iland Il only D [, Iland IV only
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A student wants to separate a mixture of X, Y and Z into the three individual
substances. The student pours the mixture into a separating funnel. The tap is
opened and a mixture of substance X and Y is collected first. Z remains in the
separating funnel. The student then uses simple distillation to separate X and Y.
X is the distillate and Y is the residue.

Which of the following shows the correct identity of X, Y and Z?

X Y 4
A water salt oil
B salt water oil
C water salt alcohol
D salt water alcohol

Which method of separation will not obtain a sample of salt from seawater?

A

water out

seawater

seawater

water in
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10 It is thought that spinach leaves contain one or more of three different pigments L,
M and N. Spots of each of these pigments are put on the starting line of two
chromatograms along with a spot of spinach extract. The first chromatogram is
developed with ethanol, the second with water.

The results are shown below:

ethanol water 4
solvent
0 5 6 front 5
) 0 6 )
starting
—~—0————-o-—~———o————o——-/ ling g - & =
spinach | M N spinach | M N
extract extract
Which pigment(s) is/are present in the spinach extract ?
A L only
B L and M only
C LandNonly
D L, Mand N
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Section B: Structured Questions [30marks]
Answer all the questions in the spaces provided.

1 (@) May decided to boil two beakers of water, to see which type of flame would
boil the water in a shorter time as shown in Fig. 1.1

1_!
i equal amount
!_ = of water
- : }I'_‘. wire gauze
| | tripod stand
luminous flame non-luminous flame
Fig. 1.1

(i) Predict which water sample will boil in a shorter time.

(i) Give a reason to explain your answer in (a)(i).

(iii)  List two other differences between a luminous and non-luminous
flame.
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(b) Fig. 1.2 shows an experiment in which a substance is being heated.

iv
Vv
Fig. 1.2
Name the apparatus used in Fig. 1.2.
() (1] (i) oo [1]
T [1] (iV) e [1

Table 2.1 gives some information about four substances M to P. Use the
information to decide whether each of these substances is an element, a mixture
or a compound.

Table 2.1
. element / mixture
substance changes on heating
/ compound
A colourless liquid which is split up by
M . :
electricity into two different gases.
N A grey solid which burns in air to form an
oxide.
A white solid which does not have a
0] constant composition and melts over a
range of temperature.
P A colourless liquid which boils off to leave a
white residue.
[4]
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Fig. 3.1 shows an experimental set-up used to obtain pure water from sea water.

(a)

(b)

(c)

(d)
(e)

(f)

water
C'_f
<
lemon peel GE/C
Fig. 3.1

State the method of separation used.
.................................................................................................. [1]
Name the apparatus used in Fig. 3.1.
A s [1]
B [1]
G o e [1]

What are the two main physical processes that occur in this method of
separation?

........................................................................................................ [2]
Indicate on the diagram ‘water in’ and ‘water out’. [2]
State the purpose of boiling chips in the experimental setup.
.................................................................................................. [1]
What would be the reading on the thermometer?
.................................................................................................. [1]
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The inks used for making EZ-Link cards are a mixture of different colours. The
chromatogram of two such inks, X and Y, is shown in Fig. 4.1.

[ ]

[ ]

[ J o
start line

X Y

Fig. 4.1

(@) Using information from Fig. 4.1, describe two similarities between inks X
and .

(b) Explain whether inks X and Y are the same ink.

(c)  The chromatography is repeated for another ink, Z. Ink Z contains only two
colours, which are not found in inks X and Y. Draw the chromatogram of
ink Z on Fig. 4.2.

Fig. 4.2 9

(d)  Explain why the starting line cannot be drawn in pen.

(e)  Use your knowledge of EZ-Link cards to suggest why water would not be
a suitable solvent to use for this chromatography.

End of Paper
[Turn over

www.geniebook.com



11

(*d'y1) aunssaud pue aimesadia) wool Je Wp 7 si Seb Aue Jo ajow auo jo awnjoA ay]

LUNIDUSANE] | WNSG0U . |LWNIASESPUSLL | WINILLSY | LUMILESISUES | WUNIWIoHED | wni@gisg Lwnuna wniuswe | wnuopnd | wnunydau EmmM: E:_HMMEQ Ewmnmt wnuge
e ON PN 4 s 10 Ad wa wy nd dN n Ed YL Y
€0l 20l L0l 0oL 66 86 16 96 c6 B €6 &6 L6 06 68 splounoe
Gl1 €11 691 191 591 €91 651 151 ¢5l 051 = L Lrl ori 6EL
wnpain| Lunicpand L e wnrugoy | wmisosdsfp | wmicpsy | wnuoped | wnideuna | wnuewes | wnigeweld | wniufposu |wosuipossesd|  WNUSY WnUBLUe|
m aA Wy 13 oH Aa ql PO n3 ws wd PN id aD el
L4 0/ 69 89 /19 99 G9 9 £9 9 19 09 65 86 15 Sploueyjue|
WUNLIOWLSAY LUNIADES winiwsdos wnusbjusol (wnopeisuwep| WnUsWSW | wnssey wnuyod  (wrifiogess | wnugnp | wnspsopsigng Lunpes winppuesy
Al 4 ug ] s w0 SH ug bs ag It spouppe | BY 1
9kl ¥lLi [43% LLL 0LL 601 801 101 901 S0L Ol €0l —68 a8 18
- S 5 602 102 roe L0e 161 GGl 6l 08l 9gl el 181 841 1€l EEL
UOPE] augelse winpucjod LAnALESIy pes| LunmpEY Aunassw piob winugeyd LML NS0 [T HP=TH u=isbung LunjEuE]. wniey Lunueq wnsses
uy w od 'gd ad I BH my id II SO Clal M el H SplouBLuE] ed S0
98 B ve £8 8 18 08 6L 8L 11 9. Gl vl el ¢l LL— 15 95 cc
LEL 1Z1 821 Zcl 6L1 Gl ZLl 801 90l €0l 1Ol R 96 €6 L6 68 a8 G
uouEK sLpol wnunjs} | Auoclunue un wnipul winrupes 1BIs wnipe|ed wnpoys | wmusyn | wngsuyss) |wnuspafiow|  wnigou WNUoIIEZ LunugA wnguons | wnipign
ax I al as us u1 PO By Pd uy ny 21 oW aN 17 A IS ay
e £5 58 LS 05 6F 8r ¥ 9r v ¥r £ v L 1] 4 6E 8€ 1€
e 08 6l =7 el 0/ G9 9 65 65 b Gg Zs LS ar Gr or 6E
uodiay ELLTETL winiuses ausse | wnuelwss | wnged uE Jaddaoa ER] WEqoD wod SsauefuBLl | WNLUOIYD | WRIpBUEA wniue WNpUEs LM Ed wmssejod
I 19 a5 sy 20 ED) uz nj IN 00 24 U 10 A i a5 ED M
9€ GE vE £e e LE 0e 65€ 8¢ 1C 9¢ e ¥e £C [44 Le 0¢ Gl
or gce e L 8c e ve £e
uobue UL nyns sruoydsoyd uoMjs LUNRILLnE wnisaubew | wmipos
ey 13 S d 1S v B EN
21 Ll 9l cL FL £l Zl Ll
0z 6l 9l ¥l Zl Ll SSEL JIWOlE aAlE2] 6 L
uosu auuong usbBixo uabogu uoqQED uouoq aweu wnpfiag LML
aN E| 0 N 3" g [oqwiAs J1woye 2g n
]! 6 8 i 9 g J2qwnu (diwoe) uojoid ¥ £
¥ L Asy
LUy usSoupfy
2H H
4 L
0 A IA A Al I w1
dnoig

Sjusuwia[g jo 3|qe] dlpoliad 3yl

www.geniebook.com



6 A 7 D 8 A 9 B 10 A
Section B

Qn Suggested Answer Marks

1ai | Non-luminous flame [1]

i Non-luminous flame is hotter than luminous flame so it will boil the [1]
water at a shorter time.

iii e Luminous flame is orange but non-luminous flame is blue. [2]

e Luminous flame can be seen easily but non-luminous flame
cannot be seen easily

¢ Luminous flame is unsteady but non-luminous flame is steady

e Little soot is produced in non-luminous flame but soot is
produced in luminous flame

e The air-holes for non-luminous flame is opened but air-holes for
luminous flame is closed

*any 2 differences

bi retort stand [1]
i Bunsen burner [1]
iii round-bottomed flask [1]
iv | wire gauze [1]
\' tripod stand [1]
2 M- compound [1]
N- element [1]
O- mixture [1]
P- mixture [1]
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3a

simple distillation

[1]

b A - thermometer [1]
B — condenser [1]
C — measuring cylinder [1]
c boiling and condensation [2]
d water out [2]
water
lemon
peel
e To smoothen the boiling. [1]
f |100°C [1]
4a | e« Both contain 3 components/ dyes/ colours. [2]
e Both contain 2 components that are the same.
e Both are impure.
*Any 2 similarities
b ¢ No, as they contain one colour/ component that is not the same. [1]
¢ No, as the spot that travelled the furthest/ fastest is not aligned/
not the same.
¢ No, as the spot furthest from the starting line/ nearest to the
solvent front are not aligned/ not the same.
Accept:
e They each have one colour that are of different solubility.
e The third spot of X is not in line with the third spot of Y.
¢ Not all the spots of X are aligned with Y.
*Any 1
c Show on diagram: 2 components, both are not aligned to any [1]
components in Xand Y.
d Pen ink is soluble in the solvent and will be separated together | [2]
with the inks and interfere with results of the chromatography.
e EZ-Link cards are exposed to moisture and water so the inks used [1]

should not be soluble in water.
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